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第 6 章  習題簡解 

習題 6-1 
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習題 6-2 
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習題 6-3 
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習題 6-4 
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習題 6-5 
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習題 6-6 
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習題 6-7 
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習題 6-8 

1. (1) 發散         (2) 收斂          (3) 收斂           

(4) 發散         (5) 收斂          (6) 收斂 

(7) 發散         (8) 發散          (9) 收斂   

(10) 發散 

  

2. (1) 收斂   (2) 收斂          (3) 發散   

(4) 收斂         (5) 收斂         (6) 發散 
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習題 6-9 

1.梯形法則 3.224 ，辛普森法則 3.216   

2.梯形法則 5.6724 ，辛普森法則 5.6528   

3.梯形法則 0.6938 ，辛普森法則 0.6932   

4.梯形法則 0.6355 ，辛普森法則 0.6377  

5.梯形法則 1.3695 ，辛普森法則 1.3708   

6.梯形法則 0.7462 ，辛普森法則 0.7468  

7.梯形法則 1.1352 ，辛普森法則 1.1358  

 


